Tagliche Ubung

1. Berechne! .-
a) 5= o>

b) 0= ¢

c) 72= N
d) 92 = > g
e) 102 = /100

2. Gib die fehlenden positiven Zahlen an!

a) 1= ( 1 )2
b) 36 = ( & )2
c) 64 = (£ )
d) 16 = (% )
e) 9= (2 )2

) 112 = A

g) 142 = A9¢

h) 162 = A

i) 192 = 364

) 252 = i
f) 144 = (—>)2
g) 169 = (42 )
" 2= A3 )
i) 4= ( .l
) 400 = (20 )

3. Lose die Klammern mit Hilfe der binomischen Formeln auf!

1. Beispiel: (x + y)? = x% + 2xy + y?
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d) (q+ p)z = o «J‘{JJ ;i_ -+ )
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e) (h + k)z — L - -+ 2 é'L’J: + K

3. Beispiel: (y+2z) * (y—z)=y*—yz +yz—z2* = y* — 22

=X

a)(h+3)(h-3)=__~4 i

b) (1,2 + 7v)(1,2 - 7v) = 2, y
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o (kl+1)kl-1)=_LL — =

2. Beispiel: (a—b)? = a? —2ab + b?
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e) (8h—6)? = 6¥b - 96 L + L6
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d) (flip + flop)(flip — flop) = _ L lcw — = Lo
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e)(ab+cd)ab—cd)=_a b~ <o




